Standards-based Assessment Bank
8th Grade Fiction


Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	1
	OAT March 05
	B
	LT 8.2
	Lincoln and the Whetstone
	This multiple-choice question asks students to understand the beginning of this passage.

	2
	OAT March 05
	A
	AV 8.1
	Lincoln and the Whetstone
	This multiple-choice question asks students to use context clues, or the words and sentences around words, to define words they do not know.

	3
	OAT March 05
	C
	LT 8.3 
	Lincoln and the Whetstone
	This short-answer question asks students to describe the two parts of this passage, and describe how Lincoln is characterized in each.

	4
	OAT March 05
	A
	LT 8.
	Lincoln and the Whetstone
	This multiple-choice question asks students to read and think about the two meetings between Lincoln and the farmer.

	5
	OAT March 05
	B
	RP 8.2
	Lincoln and the Whetstone
	This multiple-choice question asks students to make an inference about Lincoln, the main character of the passage.

	6
	OAT March 05
	A
	RP 8.2
	Lincoln and the Whetstone
	This multiple-choice question asks students to draw a conclusion from the text. To draw a conclusion, students must use information from the passage to come up with an idea about that information.

	7
	OAT March 05
	C
	AV 8.4
	Lincoln and the Whetstone
	This multiple-choice question asks students to understand that words are used in both literal (the words mean exactly what they say) and figurative ( the words are used in a descriptive way to create a picture in the reader’s mind) ways.

	8
	OAT March 05
	D
	LT 8.5
	Lincoln and the Whetstone
	This multiple-choice question asks students to understand the theme of this passage.

	15
	OAT March 05
	A
	RP 8.1
	Albert
	This multiple-choice question asks students to understand the meaning of what they read.

	16
	OAT March 05
	A
	AV 8.1
	Albert
	To answer this multiple-choice question, students use context clues or the words and sentences around words, to define words they do not know.

	17
	OAT March 05
	B
	RP 8.2
	Albert
	This short-answer question asks students to show that they understand what they read by answering a literal question.

	18
	OAT March 05
	F
	LT 8.8
	Albert
	This multiple-choice question asks students to understand what the mood of the story is.

	19
	OAT March 05
	B
	RP 8.2
	Albert
	This multiple-choice question asks students to show that they understand what they read by answering a literal question.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	20
	OAT March 05
	C
	AV 8.2
	Albert
	This multiple-choice question asks students to use what they know about the meaning of a word as well as the way a word is used in context to determine which of these meanings the author intends.

	21
	OAT March 05
	A
	LT 8.1
	Albert
	This multiple-choice question asks students to think about the different kinds of characters in stories, books and plays and about how these characters interact with one another.

	22
	OAT March 05
	C
	LT 8.3
	Albert
	This multiple-choice question asks students to explain how authors pace the action or events in the stories they write.

	23
	OAT March 05
	F
	LT 8.8
	Albert
	This extended-response question asks students to understand what the mood of a story is.

	24
	OAT March 05
	E
	LT 8.5
	Albert
	This multiple-choice question asks students to understand the theme, important idea, lesson learned or message of a passage.

	36
	OAT March 06
	B
	LT 8.2
	Yellow Man by Moonlight
	This multiple-choice question asks students to read the passage carefully and think about the setting of the story and how it influences the plot.

	37
	OAT March 06
	A
	RP 8.2
	Yellow Man by Moonlight
	This multiple-choice question asks students to read the text carefully. This question is a literal question and the answer is found in the text.

	38
	OAT March 06
	A
	LT 8.7
	Yellow Man by Moonlight
	This multiple-choice question asks students to read the passage carefully and analyze the interactions between the two characters.

	39
	OAT March 06
	B
	LT 8.2
	Yellow Man by Moonlight
	This multiple-choice question asks students to read the passage carefully and analyze the setting.

	40
	OAT March 06
	A
	RP 8.2
	Yellow Man by Moonlight
	This multiple-choice question asks students to answer this literal question by recalling information from the text.

	41
	OAT March 06
	C
	LT 8.3
	Yellow Man by Moonlight
	This extended-response question asks students to reread the passage and focus on the plot of the story.

	42
	OAT March 06
	A
	AV 8.1
	Yellow Man by Moonlight
	This multiple-choice question asks students to focus on the context clues that surround the word provisions.

	43
	OAT March 06
	A
	LT 8.1
	Yellow Man by Moonlight
	This multiple-choice question asks students to analyze interactions between characters in the passage.

	44
	OAT March 06
	C
	AV 8.4
	Yellow Man by Moonlight
	This multiple-choice question asks students to recognize the importance and function of figurative language.

	1
	OAT  May 07
	E
	LT 5.5
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and think about the theme of this passage.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	2
	OAT  May 07
	A
	AV 8.1
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and think carefully about the excerpt listed.

	3
	OAT  May 07
	F
	LT 5.7
LT 8.8
	Summer Camp
	This extended-response question asks students to read the passage carefully and pay close attention to the sensory details the author uses.

	4
	OAT  May 07
	A
	RP 8.2
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and recall details of the plot.

	5
	OAT  May 07
	A
	AV 8.1
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and think about the context surrounding the word relegated in the second sentence.

	6
	OAT  May 07
	A
	LT 8.1
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and analyze the interactions between characters in the passage.

	7
	OAT  May 07
	F
	LT 8.8
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and focus on the author’s use of figurative language.

	8
	OAT  May 07
	F
	LT 8.7
	Summer Camp
	This multiple-choice question asks students to read the passage carefully and think about the events in the passage and when they take place.

	9
	OAT  May 07
	B
	LT 8.8
	Summer Camp
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Passage:

Lincoln and the Whetstone

Edna M. Colman

1  
In 1834, when Abraham Lincoln was a candidate for the legislature, he called on a certain farmer to ask for his support. He found him in the hay field, and was urging his cause when the dinner bell sounded. The farmer invited him to dinner, but Lincoln declined politely, and added, “If you will let me have the scythe while you are gone I will mow ‘round the field a couple of times.”

2  
When the farmer returned he found three rows neatly mowed. The scythe lay against the gate post, but Lincoln had disappeared.

3  
Nearly thirty years afterward the farmer and his wife, now grown old, were at a White House reception, and stood waiting in line to shake hands with the President.

4  
When they got near him in the line Lincoln saw them, and calling an aide, told him to take them to one of the small parlors, where he would see them as soon as he got through the handshaking. Much surprised, the old couple were led away. Presently Mr. Lincoln came in, and, greeting them with an outstretched hand and a warm smile, called them by name.   

  

5  
“Do you mean to say,” exclaimed the farmer, “that you remember me after all these years?”   

 

6 
 “I certainly do,” said the President, and he went on to recall the day he had mowed around the farmer’s timothy1 field.

7  
“Yes, that’s so,” said the old man, still in astonishment. “I found the field mowed and the scythe leaning up against the gate post. But I have always wanted to ask you one thing.”

8  
“What is it?” asked Mr. Lincoln.

9  
“I always wanted to ask you, Mr. President, what you did with the whetstone2?”

10  Lincoln smoothed his hair back from his brows a moment, in deep thought; then his face lighted up.

11  “Yes, I remember now,” he said, “I put that whetstone on top of the high gate post.”

12  And when he got back to Illinois again, the farmer found the whetstone on top of the gate post, where it had lain for more than twenty-five years.

_______________________________________

1 timothy:  a kind of long grass used for hay

2 whetstone:  a stone used for sharpening tools

	Standard: 

LT
	Benchmark:     B
	Explain and analyze how the context of setting and the author’s choice of point of view impact a literary text.

	GLI:


	
	


Multiple Choice Question:

1. 
The setting at the beginning of the passage is most likely intended to show that Lincoln
A. prefers farm life to public office. 

B. feels comfortable with farmers. 

C. expects to return to farm life later.
D. lives a short distance from the farm.
Commentary:

This multiple-choice question asks students to understand the beginning of this passage.  They must think about the farm setting and then consider what this setting shows about Lincoln.  Lincoln’s ease in talking to the farmer and doing farm work shows that he feels comfortable with farmers.  The correct answer is B “feels comfortable with farmers.”  If a student chooses A, “prefers farm life to public office,” the student may not have understood the passage.  The student may think that because Lincoln went to the farm and did work there, he likes farming better than politics.  However, there is no comparison made in the passage about Lincoln’s preference for farming versus politics.  If a student chooses C, “expects to return to farm life later,” the student may think that because Lincoln knows how to work on a farm that he would return to a farm later in life.  While the farm setting at the beginning of the passage shows that Lincoln is comfortable with farmers and farm work, the passage does not suggest that Lincoln thought that he would return to farm life.  If a student chooses D, “lives a short distance from the farm,” the student may think that because Lincoln went to the farm, the farm was close to where he lived.  The passage does not say how far away Lincoln lived from the farm.

Performance Data:
The percent of public school students selecting answer choice B for question 1 on the March 2005 Grade 8 Reading Achievement Test was 60%.

Keywords:  setting, literary text

	Standard: 

AV
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:


	
	


Multiple Choice Question:

2.   “He found him in the hay field, and was urging his cause when the dinner bell sounded. The farmer invited him to dinner, but Lincoln declined politely, and added, ‘If you will let me have the scythe while you are gone I will mow ‘round the field a couple of times.’ ” 
The information in these sentences suggests that a scythe is an instrument used for 

A. welcoming visitors. 

B. sounding alarms. 

C. preparing meals. 

D. harvesting hay. 

Commentary:

This multiple-choice question asks students to use context clues, or the words and sentences around words, to define words they do not know.  To answer the question correctly, students should use the context around the word “scythe”.  In the passage students read, “Lincoln asks for the scythe so that he can mow round the field a couple of times.”  From this, the reader can tell that the scythe is used for mowing or doing work on a field or a farm. The answer is D, “harvesting hay.”  If a student chooses B, “sounding alarms,” the student may think that because a dinner bell sounds, the scythe has to do with sounding alarms.  If a student chooses C, “preparing meals,” the student may think that because dinner is ready, the scythe has to do with preparing a meal.  If a student chooses A, “welcoming visitors,” the student may think that because Lincoln was a welcome visitor, the scythe has to do with welcoming visitors.

Performance Data:

The percent of public school students selecting answer choice D for question 2 on the March 2005 Grade 8 Reading Achievement Test was 92%.

Keywords:  vocabulary, context clues
	Standard: 

LT
	Benchmark:     C
	Identify the structural elements of the plot and explain how an author develops conflicts and plot to pace the events in literary text.

	GLI:


	
	


Short Answer Question:

3. What are two distinct parts to the passage “Lincoln and the Whetstone”? Using information from the passage, describe how Lincoln is characterized in the two parts of the passage. Write your answer in the Answer Document. 
Commentary:

This short-answer question asks students to describe the two parts of this passage, and describe how Lincoln is characterized in each.  The first part of the passage takes place when Lincoln visits the farmer on his farm.  He seeks the farmer’s support in an upcoming election.  In the second part of the passage, the farmer comes to the White House to visit Lincoln. Although it is almost thirty years later, Lincoln remembers the farmer and his visit to the farm. In the first part of the passage, Lincoln is characterized as hardworking because he goes to the farm and mows the field, careful because he mows the field neatly and humble because he is not too proud to work. In the second part of the passage, Lincoln’s character is further developed.  Lincoln is shown to be thoughtful, polite, kind and appreciative because he welcomes the farmer by inviting him to a private parlor and greeting him one on one.

Performance Data:

The percent of public school students earning each score point for question 3 on the March 2005 Reading Achievement Test was:

	Percent at Each Score Point

	0
	
	1
	
	2

	25%
	
	36%
	
	36%


Scoring Guidelines:
2 point text
The response identifies the two parts of the story and describes how Lincoln is characterized in the two parts, using information from the passage as evidence. 

Examples: 

Part A

The first part of the story is about how Lincoln meets with a farmer to gather support for an upcoming legislative election. 

Characterizations

· This part of the story reveals Lincoln’s hard-working or humble nature because he mows the farmer’s field and because he’s out talking to people face to face. 

· It reveals the care he gives his work because the mowing is neat. 

· It also reveals that he does not think of himself as being too good for farm work and farm workers. 

· It reveals him as a politician because he has just begun to run for office, even though he has yet to be elected.

· Other relevant, text-based characterization with support

Part B

The second part of the story is about Lincoln thirty years later when the farmer comes to a reception at the White House. 

Characterizations

· This part of the story is meant to reveal how thoughtful or how great Lincoln’s memory was, for he remembers the farmer’s face, name, the day he mowed his field so long ago, and where he left the whetstone. 

· This part also reveals Lincoln to be polite, kind, thoughtful, and appreciative, for he has the old visitors taken to a special parlor where they can visit.

· Lincoln is characterized as a very important man, a President. The author describes how Lincoln receives the farmer and his wife by having them led to a private room to await his entrance.

· Other relevant, text-based characterization with support

1 point text
The response identifies the two parts of the passage with no example of the author’s characterization of Lincoln OR the response identifies one part of the passage with one example of the author’s characterization of Lincoln.

0 point text
The response indicates no understanding of the task.

Keywords:  plot sequence, characterization
____________________________________________________________________________

	Standard: 

LT
	Benchmark:     A
	Analyze interactions between characters in literary text and how the interactions affect the plot.

	GLI:


	
	


Multiple Choice Question:

4.   Which word best describes the relationship between Lincoln and the farmer both times they meet?
A. awkward 

B. doubtful 

C. respectful 

D. joyous
Commentary:

This multiple-choice question asks students to read and think about the two meetings between Lincoln and the farmer.  Students must understand the two characters and how they get along with each other.  A respectful relationship is one in which two people pay special attention to each other and look up to each other.  The passage shows that the relationship between the farmer and Lincoln is respectful in several ways.  At the beginning, Lincoln thinks that the farmer is important enough to go to his farm to ask for his support.  The farmer invites Lincoln to dinner.  Lincoln politely declines but offers to mow the farmer’s field.  Almost 30 years later, the farmer goes to pay his respects to Lincoln, who greets the farmer as an important guest.  Lincoln invites the farmer and his wife to a private room. He talks to them himself.  All these actions show that the farmer and Lincoln are “respectful” to one another.  The correct answer is C.  If a student chooses A, “awkward,” the student may not have understood how to use the clues in the passage that describe the relationship between characters.  The student may think that because the farmer may have felt shy when he met an important man such as Lincoln, their relationship is awkward.  However, the passage does not describe their meetings as awkward.  If a student chooses B, “doubtful,” the student may not have understood how to use the clues in the passage that describe the relationship between characters.  The student may think that because the farmer was not sure that Lincoln would remember him, their relationship is doubtful.  However, President Lincoln remembers the farmer right away.  Their relationship is not doubtful.  If a student chooses D, “joyous,” the student may not have understood how to use the clues in the passage that describe the relationship between characters.  The passage does not describe their meeting as joyous.  It does not contain references to their embracing each other or smiling or laughing when they see each other.   

Performance Data:

The percent of public school students selecting answer choice C for question 4 on the March 2005 Grade 8 Reading Achievement Test  was 77%.

Keywords:  character, plot

	Standard: 

RP
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:


	
	


Multiple Choice Question:

5.  What does this passage suggest about Lincoln?
A. He has a sharp memory. 

B. He has a curious nature. 

C. He is an honest person. 

D. He is a popular politician. 

Commentary:

This multiple-choice question asks students to make an inference about Lincoln, the main character of the passage. Inferences are conclusions drawn on the basis of something that is already known. Students should read the passage carefully and focus on Lincoln’s qualities.  One of Lincoln’s qualities that is emphasized in this passage is his sharp memory.  After almost 30 years, Lincoln remembers the farmer when he sees him.  The farmer’s amazement shows how astonishing Lincoln’s memory is.  Then, Lincoln pauses only for a moment to remember where he left the farmer’s whetstone.  When the farmer returns to his farm, he “found the whetstone on top of the gate post, where it had lain for more than twenty-five years.”  The fact that Lincoln remembered where he had left the stone almost 30 years ago shows his sharp memory.  The correct answer is A, “He has a sharp memory.”  If a student chooses B, “He has a curious nature,” the student may not understand how to make inferences about a character based on the character’s words or actions. In this passage, Lincoln’s actions do not suggest that he is a curious man.  If a student chooses C, “He is an honest person,” the student may not understand how to make inferences about a character based on the character’s words or actions.  This passage does not show Lincoln to be either an honest or dishonest man.  If a student chooses D, “He is a popular politician,” the student may not understand how to make inferences about a character based on the character’s words or actions. This passage does not discuss Lincoln as a popular politician.

Performance Data:

The percent of public school students selecting answer choice A for question 5 on the March 2005 Grade 8 Reading Achievement Test was 58%.

Keywords:  inference, plot
	Standard: 

RP
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:


	
	


Multiple Choice Question:

6.  
As President, how does Lincoln show his appreciation toward the farmer and his wife?
A. He offers to mow the field again. 

B. He treats them as honored guests. 

C. He reveals where he put a whetstone. 

D. He invites them to a private dinner. 
E. 

F. ID: 2022; Version: 5 
G. 

Commentary:

This multiple-choice question asks students to draw a conclusion from the text.  Drawing conclusions is a reading strategy. To draw a conclusion, students must use information from the passage to come up with an idea about that information. Drawing conclusions is similar to 
making inferences in that readers figure out something from the text beyond what is written.  In this passage, Lincoln shows his appreciation toward the farmer and his wife by treating them as honored guests. The farmer and his wife are in a line waiting to shake hands with the President.  Instead of only shaking hands with the couple, Lincoln calls an aide and asks him to “take them to one of the small parlors, where he would see them as soon as he got through the handshaking.”  In the parlor, Lincoln comes in to talk with them and greets them “with an outstretched hand and a warm smile” and calls them “by name.” This personal and private attention makes the farmer and his wife feel as if they are honored guests of the President.  The correct answer is B, “He treats them as honored guests.” If a student chooses A, “He offers to mow the field again,” the student may not understand that this question refers to the time period when Lincoln was President. In the passage, Lincoln does not offer to mow the field again.  He shows his appreciation by providing an opportunity for the couple to meet him privately instead of only shaking hands with them. This personal and private attention makes the farmer and his wife feel as if they are honored guests of the President. If a student chooses C, “He reveals where he put a whetstone,” the student may not have understood how Lincoln shows his appreciation.The student may think that because Lincoln tells where he left the whetstone, he is showing appreciation. This is not supported by the passage. Lincoln tells where he left the whetstone only after the farmer asks him. He shows his appreciation by providing an opportunity for the couple to meet him privately instead of only shaking hands with him.  If a student chooses D, “He invites them to a private dinner,” the student may not have understood how Lincoln shows his appreciation. In the passage, Lincoln does not invite the couple to a private dinner.  He shows his appreciation by providing an opportunity for the couple to meet him privately instead of only shaking hands with him. This personal and private attention makes the farmer and his wife feel as if they are honored guests of the President. 

Performance Data:

The percent of public school students selecting answer choice B for question 6 on the March 2005 Grade 8 Reading Achievement Test was 64%.

Keywords:  drawing conclusions, reading strategies
	Standard: 

AV
	Benchmark:     C
	Recognize the importance and function of figurative language.  

	GLI:


	
	


Multiple Choice Question:

7.  
“Lincoln smoothed his hair back from his brows a moment, in deep thought, then his face lighted up.”
      The author uses the phrase his face lighted up to show that Lincoln

A. is amused.

B. recalls something. 

C. is puzzled. 
D. feels embarrassed. 



ID: 2064; Version: 3 


Commentary:

This multiple-choice question asks students to understand that words are used in both literal (the words mean exactly what they say) and figurative ( the words are used in a descriptive way to create a picture in the reader’s mind) ways. To answer this question correctly, students have to determine the intended meaning of “his face lighted up” in the passage. Lincoln thinks for a moment, his face lights up, and then he says: “Yes, I remember now.” He remembers that he “put that whetstone on top of the high gate post.” The words “his face lighted up” are immediately followed by “Yes, I remember now….”From this order of events, the reader can tell that Lincoln’s face lights up because he remembers. The correct answer choice is B, “recalls something.” If a student chooses A, “is amused,” the student may not understand the intended meaning of these words in the passage.  The passage does not suggest that Lincoln was amused. In the passage, Lincoln’s “face lighted up” because he remembers where he put the whetstone. If a student chooses C, “is puzzled,” the student may not understand the intended meaning of these words in the passage. The student may think that because Lincoln was in deep thought, he was puzzled; but when his face lights up, Lincoln is no longer puzzled. He remembers where he put something. If a student chooses D, “ feels embarrassed,” the student may not understand the intended meaning of these words in the passage. This student may think that because Lincoln misplaced the whetstone, he must be embarrassed. In the passage though, there is no hint that Lincoln feels embarrassed.

Performance Data:

The percent of public school students selecting answer choice B for question 7 on the March 2005 Grade 8 Reading Achievement Test was 88%.

Keywords:  figurative language, plot
____________________________________________________________________________
	Standard: 

LT
	Benchmark:     E
	Analyze the use of a genre to express a theme or topic.

	GLI:


	
	


Multiple Choice Question:

8.  Which theme best applies to the passage?
A. There is a time for work and there is a time for play. 

B. Sometimes what you search for is in your own back yard. 

C. There is more than just one way to do something. 

D. Sometimes it is best to make do with what you have. 

Commentary:

This multiple-choice question asks students to understand the theme of this passage. Passages can have several themes.  Some can be broad themes that reflect an important idea that is implied throughout a passage.  Other themes may reflect an important idea implied in a part of the passage. In this passage, the farmer has wondered for almost 30 years where Lincoln left the whetstone.  When he has a chance to ask Lincoln, he learns that the whetstone has been on his fence post all those years.  When he returns home, he finds it just where Lincoln stated.  The idea that the farmer has wondered about it all these years and that Lincoln remembers putting it on the fence are the important ideas in this part of the passage. Therefore, the correct answer choice is B, “Sometimes what you search for is in your own backyard.”  If a student chooses A, “There is a time for work and there is a time for play,” the student may not know what a theme is or how to infer the theme of a passage. The idea of balancing work and play is not shown in this passage.  What is talked about in this passage is the farmer’s finding his whetstone on his own farm after 25 years.  If a student chooses C, “There is more than just one way to do something,” the student may not know what a theme is or how to infer the theme of a passage.  The author does not write about the different ways that Lincoln and the farmer do things.  What is talked about in this part of the passage is the farmer’s finding his whetstone on his own farm after 25 years.  If a student chooses D, “Sometimes it is best to make do with what you have,” the student may not know what a theme is or how to infer the theme of a passage.  This passage does not show the farmer making do with what he has.  What is talked about in this part of the passage is the farmer’s finding his whetstone on his own farm after 25 years.

Performance Data:

The percent of public school students selecting answer choice B for question 8 on the March 2005 Grade 8 Reading Achievement Test was 56%.

Keywords:  theme, plot
____________________________________________________________________________

Passage:

Albert 

Marcy Cottrell Houle

1  
One chilly spring morning high in the mountains of Colorado, two small peregrine falcons were born. No soft feathers or grass lined their nest, or aerie. Their home was a hard ledge covered with dirt and small rocks near the top of a towering cliff. Frosty winds blew around the precipice, and snow glistened in the forested foothills below. Yet the peregrines were not uncomfortable. Their mother and father tended them carefully—feeding the nestlings when they were hungry and shielding them from the wind with their larger, soft bodies.

2  
At first the two peregrines spent most of their time sleeping. Born blind and helpless, they could do little but eat. Yet soon long, tapering gray and white feathers replaced their soft downy ones. Their yellow feet grew large and strong. By the time they were only six weeks old, they were as big and handsome as their parents.

3  
The two young peregrines, absorbed in their own affairs, were not aware that they were being watched. A wildlife biologist was studying them. For six weeks she had been writing down everything she saw them doing, for these birds were special. They belonged to a race known as Falco peregrinus anatum, the American peregrine falcon. Peregrine falcons are the fastest of all living creatures. They are also endangered, which means so few are left in the world that their species may not survive into the next century.

4  
The young falcons did not know this, of course. Nor did they know that the biologist had named them Albert and Leopold for ease in her note taking. For the time being, only one thing was on the nestlings’ minds: learning how to fly.

5  
Unfortunately, this skill seemed to elude them. Especially Albert. Every time he tried to fly, his legs got in the way. When he ran along the cliff, he fell down. When he tried to climb the rocks to the ridge top, he slid backward on his rear. It seemed improbable that he would ever live up to the peregrine label “king of the air.”

6  
Leopold, however, was more adept. He could hop a foot or two into the air and beat his wings so rapidly that he stayed airborne for several seconds.

7  
Because Leopold could move so fast, he usually got first grab at the food, which was unfortunate for Albert. Then the day came when Leopold jumped off the ledge and actually flew. Albert watched as his brother pumped his wings wildly and zigzagged far above the ground, wailing a high-pitched Ki! Ki! Ki! Instantly Albert’s father soared by and reached out with his talons to pass food to Leopold in midair.

8  
Now Albert was starving, too, and he squealed for attention, but his father had already left. After an hour the adult peregrine returned carrying more food. He flew by Albert and dangled it in front of his son’s beak. This was strange. Always before he’d dropped it off at Albert’s feet. Albert screeched his annoyance. His father merely called out a soft echup-chupp and continued flying in front of him. Albert squealed louder. He was petrified.

9  
The biologist, who was watching carefully, held her breath. She realized how important it was that the young peregrine learn to fly—and fly well. He was a hunter, and his skill at procuring food would make all the difference to his survival. At this point for his species, the success of each individual peregrine counted.

10  Albert ran back and forth. He jumped up and down, begging, but he would not fly. Finally his father gave up and deposited the meal at Albert’s feet.

11  For several days Albert continued his stubborn resistance to learning how to fly. He preferred to go hungry rather than work for his dinner. Leopold’s skill was increasing daily, but Albert’s fear kept him from taking the plunge off the 150-foot cliff.

12  The biologist began to worry. She observed that Albert was getting less and less food, but there was nothing she could do. Then, one hot morning in July, Albert was not fed at all.

13  Leopold had left to soar on his own and explore the territory. The adult peregrines had not been seen since daybreak. At lunchtime Albert’s father was at last spotted bringing home food for his timid offspring.

14  Albert, ravenous with hunger, was beside himself with excitement. He leaped into the air and, without thinking, jumped off the cliff. Finding himself in midair, he panicked. Floating down, down, down like a parachute, he crashed upon a rock halfway down the cliff. He tried desperately to grasp the boulder but slid backward.

15  Albert shrieked. He took off again and tried to hop and flutter back to the nest, but he didn’t have the energy to climb the sheer cliff wall. High above him towered the aerie. Albert slid down to a level spot. He sat back and screeched for help.

16  At last, when the sun began sinking in the sky, Leopold and his mother returned to the aerie. Albert jumped up and down and screeched for them to rescue him, but they could do nothing. Hungry and tired and alone, Albert rocked back and forth on his dark, narrow perch.

17  Soon afterward Albert’s father returned to soar above the cliff. From his powerful talons dangled a tasty meal for his nestling. 

18  Food! Albert stopped screeching. Suddenly he seemed to know that if he were to survive, he must learn how to fly—and fly now.

19  Giving his feathers a shake, Albert stood up straight. With Leopold crying from above, he leaped into the air. Wings flapping like electric beaters, he lifted himself higher and higher in furious fits and spurts, until at last he stumbled upon the aerie. 

20  Quickly Albert’s father soared over and dropped the food at his feet. Albert grabbed the morsel with his talons, puffed out his feathers, then dove into dinner.  Like his brother, Albert had at last become a fledgling.
	Standard: 

RP
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:


	
	


Multiple Choice Question: 

15.  
How are Albert’s and Leopold’s first experiences in the air different from each other?
A. Albert crashes on the cliff, whereas Leopold receives food midair. 

B. Albert’s experience is caused by fear, whereas Leopold is motivated by food. 

C. Albert tries to fly by himself, whereas Leopold receives help from the parents. 

D. Albert stays close to the nest, whereas Leopold flies out of sight immediately. 
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Commentary:

This multiple-choice question asks students to understand the meaning of what they read.  At grade 8, students choose different strategies depending on what and why they are reading. One of these strategies is comparing and contrasting, which is thinking about how things are the same and how they are different.  When we read novels, we often compare the characters with people we know or with the people in other books or movies.  When we read a history book, we might compare how two events are the same or contrast how life long ago was different from life today.  When we read a persuasive essay, we might contrast different points of view on a topic.  Comparing and contrasting help readers understand and make connections about what they read.  The two birds’ first experiences in the air are very different.  Leopold flies first.  His first flight is described this way: “Then the day came when Leopold jumped off the ledge and actually flew.  Albert watched as his brother pumped his wings wildly and zigzagged far above the ground, wailing a high-pitched Ki! Ki! Ki!  Instantly Albert’s father soared by and reached out with his talons to pass food to Leopold in midair.”  Albert’s first flight is different.  The author describes it this way: “Albert, ravenous with hunger, was beside himself with excitement.  He leaped into the air and, without thinking, jumped off the cliff.  Finding himself in midair, he panicked.  Floating down, down, down like a parachute, he crashed upon a rock halfway down the cliff.”  The correct answer is A, “Albert crashs on the cliff, whereas Leopold receives food midair.”  If a student chooses B, “Albert’s experience is caused by fear, whereas Leopold is motivated by food,” the student may not have understood the passage.  Both Leopold and 
Albert are motivated by food.  When Leopold tries to fly, he gets “food midair.”  However, when Albert tries to fly, the passage says, “he crashed upon a rock halfway down the cliff.”  If a student chooses C, “Albert tries to fly by himself, whereas Leopold receives help from the parents,” the student may not have understood the passage.  Both Albert and Leopold receive help from their parents.  When Leopold tries to fly, he gets “food midair” from his father.  The father also encourages Albert by tempting him with some food.  However, when Albert tries to fly, the passage says, “he crashed upon a rock halfway down the cliff.”  If a student chooses D, “Albert stays close to the nest, whereas Leopold flies out of sight immediately,” the student may not have understood the passage.  The first part of this answer is true.  Albert does stay close to the nest.  However, the second part is not true: Leopold does not fly out of sight immediately.  When Leopold does try to fly, he gets “food midair” from his father.  When Albert tries to fly, the passage says, “he crashed upon a rock halfway down the cliff.

Performance Data:

The percent of public school students selecting answer choice A for question 15 on the March 2005 Grade 8 Reading Achievement Test was 54%.

Keywords:  reading strategies, compare and contrast
_______________________________________________________________________

	Standard: 

AV
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:


	
	


Multiple Choice Question: 
16. “For the time being, only one thing was on the nestlings’ minds: learning how to fly. 


Unfortunately, this skill seemed to elude them. Especially Albert. Every time he tried to fly,  his legs got in the way.”

   What does the word elude mean?

A. bore 

B. govern 

C. escape 

D. threaten 
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Commentary:  
To answer this multiple-choice question, students use context clues or the words and sentences around words, to define words they do not know.  Authors often provide clues to help readers figure out the meaning of unknown words.  For example, the following sentence contains the word anxious:  “The boy was anxious; he was wringing his hands and wiping at the sweat on his brow, thinking about his upcoming baseball game.”  The context clues around the word anxious tell the reader that anxious means nervous.  To answer this question correctly, students need to use context clues surrounding the word “elude.”  The passage says that “only one thing was on the nestlings’ minds: learning how to fly.” The passage also discusses how difficult flying is for them.  For example, Albert’s legs get in the way, a situation that supports the idea that flying is something the nestlings cannot master.  The correct answer is C, “escape.”  If a student chooses A, “bore,” the student may not have understood the context clues surrounding the word “elude.”  The passage says that “only one thing was on the nestlings’ minds; learning how to fly.”  If this is the one thing on their minds, then this skill would not “bore” them.  In fact, the passage discusses how difficult it is for the nestlings to master the skill of flying.  If a student chooses B, “govern,” the student may not have understood the context clues surrounding the word “elude.”  The passage says that “only one thing was on the nestlings’ minds : learning how to fly.”  The thought of flying might “govern” the nestlings, but the actual act of flying does not.  If a student chooses D, “threaten,” the student may not have understood the context clues surrounding the word “elude.”  The passage says that “only one thing was on the nestlings’ 
minds: learning how to fly.”  The author notes that Albert needs to fly to hunt and that this skill “would make all the difference to his survival.”  So, flying is not a danger or a threat; it is a need.

Performance Data:

The percent of public school students selecting answer choice C for question 16 on the March 2005 Grade 8  Reading Achievement Test was 45%.

Keywords:  vocabulary, context clues

______________________________________________________________________

	Standard: 

RP
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:


	
	


Short Answer Question:

17.  
Why does the biologist feel it is so important for Albert to learn how to fly? Use information from the passage to support your answer. Write your answer in the Answer Document. 
(2 points)
Commentary:

This short-answer question asks students to show that they understand what they read by answering a literal question.  Literal questions ask students about facts, ideas or details that are stated directly.  For example, students might read a passage that says that the atmosphere is made up of about 78 percent nitrogen gas and 21 percent oxygen.  Students can answer a question that asks, “About what percentage of Earth’s atmosphere is made up of oxygen?” The answer is directly stated.  In this question, students need to use the passage to explain why the biologist thinks that it is important for Albert to fly.  In paragraph 9 the author writes:


The biologist, who was watching carefully, held her breath.  She realized how important 


it was that the young peregrine learn to fly – and fly well.  He was a hunter, and his skill


at procuring food would make all the difference to his survival.  At this point for his 


species, the success of each individual peregrine counted.

The biologist states two reasons why it is important for Albert to fly.  First, if he cannot fly, he cannot hunt.  He needs food to live.  Second, his life is important for his whole species.  He needs to live so that peregrines do not die off completely.

Performance Data:

The percent of public school students earning each score point for question 17 on the March 2005 Grade 8 Reading Achievement Test was:

	Percent at Each Score Point

	0
	
	1
	
	2

	10%
	
	62%
	
	26%


Scoring Guidelines:

2 point text
The response provides an explanation of why the biologist feels it is important for Albert to learn to fly. The explanation discusses the connection between Albert’s flying and his survival and the connection between Albert’s flying and the survival of his species.

Example: 

The biologist feels it is important for Albert to learn how to fly for two reasons. If Albert does not learn how to fly, he won’t be able to hunt. He will starve to death if his parents stop feeding him. If Albert does not learn how to fly, he will die, which will make his species even more endangered.

1 point text

The response provides an explanation of why the biologist feels it is important for Albert to learn to fly. The explanation discusses the connection between Albert’s flying and his survival OR the connection between Albert’s flying and the survival of his species.

Example: 

The biologist feels it is important for Albert to learn how to fly. If Albert does not learn how to fly, he won’t be able to hunt. He will starve to death after his parents stop feeding him.

0 point text
The response indicates no understanding of the task. 

The response indicates no understanding of the task.
Keywords:  reading strategies, literal questions
	Standard: 

LT
	Benchmark:     F
	Identify and analyze how an author uses figurative language, sound devices and literary techniques to shape plot, set meaning and develop tone.

	GLI:


	
	


Multiple Choice Question:

18.   Which sentence from the passage most strongly develops a mood of pity? 
A. “For several days Albert continued his stubborn resistance to learning how to fly.” 
B. “Albert grabbed the morsel with his talons, puffed out his feathers, then dove into dinner.” 
C. “...Albert’s fear kept him from taking the plunge off the 150-foot cliff.” 
D. “Hungry and tired and alone, Albert rocked back and forth on his dark, narrow perch.” 
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Commentary: 
This multiple-choice question asks students to understand what the mood of the story is.  A mood is the feeling a reader has while reading a passage.  For example, a story about a haunted house might have a dark or an eerie mood.  A poem about flowers might have a cheerful mood.  Students should also understand how authors choose their words carefully to create a mood.  An author can describe the wind as a “gentle breeze” or a “strong gust of wind.”  The words that the author uses create a picture and feeling for the reader.  An author creates a mood of pity by using words that make the reader feel sorry about something that is happening.  Readers should feel sorry for Albert when he is trapped on the cliff because he is in a difficult situation and is upset.  The answer is D, “Hungry and tired and alone, Albert rocked back and forth on his dark, narrow perch.”  If a student chooses A, “For several days Albert continued his stubborn resistance to learning how to fly,” the student may not have understood the passage.  When an author creates a mood of pity, the reader feels sorry for someone or sorry about what is happening in the passage.  However, Albert’s “stubborn resistance” does not inspire pity.  Readers should feel sorry for Albert when he is trapped on the cliff because then he is “ hungry and tired and alone.”  If a student chooses B, “Albert grabbed the morsel with his talons, puffed out his feathers, then dove into dinner,” the student may not have understood the passage.  When an author creates a mood of pity, the reader feels sorry for someone or sorry about what is happening in the passage.  When Albert gets his food, the reader should feel happy for the bird because he has finally flown.  If a student chooses C, “…Albert’s fear kept him from taking the plunge off the 150-foot cliff,” the student may not have understood the passage.  When an author creates a mood of pity, the reader feels sorry for someone or sorry about what is happening in the passage.  Albert’s fear might create a sense of tension or anxiety in the reader but would not necessarily inspire pity.
Performance Data:

The percent of public school students selecting answer choice D for question 18 on the March 2005 Grade 8 Reading Achievement Test was 69%.

Keywords:  word choice, figurative language
	Standard: 

RP
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (literal, inferential, evaluative and synthesizing).

	GLI:


	
	


Multiple Choice Question:

19.  What finally motivates Albert to learn to fly?
A. He is scared and his mother is in the aerie. 
B. He is hungry and his father appears with food. 

C. He is lonely and wants to explore with his brother. 

D. He is jealous and wants to fly better than his brother. 
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Commentary: 
This multiple-choice question asks students to show that they understand what they read by answering a literal question.  Literal questions ask students about facts, ideas or details that are stated directly.  For example, students might read a passage that says that the atmosphere is made up of about 78 percent nitrogen gas and 21 percent oxygen.  Students can answer a question that asks, “About what percentage of Earth’s atmosphere is made up of oxygen?”  The answer is directly stated.  When Albert, “hungry and tired and alone,” sees his father dangling “a tasty meal,” the passage says, “Suddenly he seemed to know that if he were to survive, he must learn how to fly – and fly now.”  The correct answer is B, “He is hungry and his father appears with food.”  If a student chooses A, “He is scared and his mother is in the aerie,” the student may not have understood the passage.  After Albert falls on the cliff, Leopold and his mother return to the aerie. Albert jumps up and down screeching for them “to rescue him.”  He may be “scared,” but his mother’s presence in the aerie does not make him fly.  It is not until Albert, “hungry and tired and alone,” sees his father dangling “a tasty meal” that, “Suddenly he seemed to know that if he were to survive, he must learn how to fly – and fly now.” If a student chooses C, “He is lonely and wants to explore with his brother,” the student may not have understood the passage.  Albert’s brother flies for some time without Albert.  It is not until Albert falls from the ledge and is trapped on the side of the cliff that he feels “lonely.”  Then, when he sees his father dangling “a tasty meal. …Suddenly he seemed to know that if he were to survive, he must learn how to fly – and fly now.”  If a student chooses D, “He is jealous and wants to fly better than his brother,” the student may not have understood the passage.  The author does say that Leopold “was more adept” at flying than his brother, but nowhere does she say or suggest that Albert is jealous.  It is not until Albert, “hungry and tired and alone,” sees his father dangling a “tasty meal” that, “Suddenly he seemed to know that if he were to survive, he must learn how to fly – and fly now.” 
Performance Data:

The percent of public school students selecting answer choice B for question 19 on the March 2005 Grade 8 Reading Achievement Test was 81%.

Keywords:  reading strategies, literal questions
	Standard: 

AV
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:


	
	


Multiple Choice Question:

20.     “Leopold had left to soar on his own and explore the territory.”
          The word soar suggests that Leopold 

A. flies often. 

B. is a skilled flier. 

C. has difficulty flying. 

D. flies short distances. 
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Commentary: 

This multiple-choice question asks students to use what they know about the meaning of a word as well as the way a word is used in context to determine which of these meanings the author intends.  The word soar suggests that Leopold is capable of flying with strength and speed and so is “a skilled flier.”  Many clues in the sentence and in the passage support this answer.  Earlier in the passage, the author states that “Leopold’s skill was increasing daily … .”  The sentence in the question notes that Leopold was “on his own” and went to “explore the territory.”  If he can fly by himself and explore a large area, then he must be good at flying.  Finally, the fact that Leopold later returns as “the sun began sinking in the sky” also shows that he can fly for a long time.  The correct answer is B, “is a skilled flier.”  If a student chooses A, “flies often,” the student may not have understood how the word soar is used in the sentence.  Leopold has just learned to fly.  He will fly often, but this is the first time in the passage that he has flown off to “explore.”  There is nothing in this sentence that says how often Leopold flies.  However, the word soar (in paragraph 13) does suggest that Leopold is capable of flying with strength and speed.  He is, after all, able to “explore the territory.”  If a student chooses C, “has difficulty flying,” the student may not have understood how the word soar is used in the sentence.  The student may think Leopold has difficulty because he has just learned to fly.  Or, the student might confuse Albert and Leopold.  Leopold does have trouble at first, but he is soon “more adept” than Albert, who has problems flying throughout the passage.  Leopold is now able to “explore the territory.”  If a student chooses D, “flies short distances,” the student may not have understood how the word soar is used in the sentence.  The student may think Leopold flies short distances because he has just learned to fly.  There is nothing in this sentence about Leopold’s flying short distances.  By the time he “soars,” he is able to “explore the territory.”  He does not come back until “the sun began sinking in the sky.”  This supports the idea that he has probably flown a long way.
Performance Data:

The percent of public school students selecting answer choice B for question 20 on the March 2005  Grade 8 Reading Achievement Test was 66%.

Keywords:  vocabulary, figurative language

	Standard: 

LT
	Benchmark:     A
	Analyze interactions between characters in literary text and how the interactions affect the plot.

	GLI:


	
	


Multiple Choice Question:

21.  
Which statement best shows how competition between Albert and Leopold affects the plot of the story?
A. Albert watches his brother fly, and decides that he wants to fly as well as Leopold. 

B. Because Leopold goes on flights with his mother, Albert feels rejected.
C. Albert sees that Leopold has won the approval of his parents, so Albert competes for attention.

D. Because Leopold gets most of the food the parents bring, Albert must fly soon to find food.
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Commentary: 
This multiple-choice question asks students to think about the different kinds of characters in stories, books and plays and about how these characters interact with one another.  Students should also think about how characters’ relationships and conflicts affect other parts of the story, play or poem, such as the plot (story events), setting, mood, tone or theme.  To answer the question correctly, students must focus on the relationship between Albert and Leopold. They must also refer to the beginning of the passage, in which the author suggests that it is important that Albert learn to fly: “Because Leopold could move so fast, he usually got first grab at the food, which was unfortunate for Albert.”  Leopold can “move so fast” because he is beginning to fly in short spurts; Albert, however, is still walking around the ledge.  Through the passage, Albert gets less and less food because he is unable to fly: “Then, one hot morning in July, Albert was not fed at all.”  The correct answer is D, “Because Leopold gets most of the food the parents bring, Albert must fly soon to find food.”  If a student chooses A, “Albert watches his brother fly, and decides that he wants to fly as well as Leopold,” the student may not have understood the passage.  Leopold flies for some time while Albert watches him, and Albert’s observation of Leopold does not seem to inspire him to take flight:

             For several days Albert continued his stubborn resistance to learning how to fly.  

             He preferred to go hungry rather than work for his dinner.  Leopold’s skill was 

             increasing daily, but Albert’s fear kept him from taking the plunge off the 150-foot 

             Cliff.

Albert remains frightened through most of the passage, but early on, the author suggests that it is important that Albert learn to fly: “Because Leopold could move so fast, he usually got first grab at the food, which was unfortunate for Albert.”  Leopold can “move so fast” because he is beginning to fly in short spurts; Albert, however, is still walking around the ledge.  Through the course of the passage, Albert gets less and less food because he is unable to fly: “Then, one hot morning in July, Albert was not fed at all.”  If a student chooses B, “Because Leopold goes on flights with his mother, Albert feels rejected,” the student may not have understood the passage.  In paragraph 16, the author mentions that “At last, when the sun began sinking in the sky, Leopold and his mother returned to the aerie.”  However, the author does not say or 
suggest that Albert “feels rejected” either before or after they return.  Through the course of the passage, however, Albert gets less and less food because he is unable to fly:  “Then , one hot morning in July, Albert was not fed at all.”  If a student chooses C, “Albert sees that Leopold has won the approval of his parents, so Albert competes for attention,” the student may not have understood the passage.  Albert wants his parents’ attention – but really just to bring him food.  In paragraph 8, the author notes:

           Now Albert was starving, too, and he squealed for attention, but his father had 

           already left.  After an hour the adult peregrine returned carrying more food.

           He flew by Albert and dangled it in front of his son’s beak.  This was strange.  

           Always before he’d dropped it off at Albert’s feet.  Albert screeched his 

           annoyance.

Throughout the passage, Albert cries out to his parents, but he cries out for food and not just for attention.  Through the course of the passage, Albert gets less and less food because he is unable to fly:  “Then, one hot morning in July, Albert was not fed at all.”
Performance Data:

The percent of public school students selecting answer choice D for question 21 on the March 2005 Grade 8 Reading Achievement was 50%.

Keywords:  characters, plot

____________________________________________________________________________
	Standard: 

LT
	Benchmark:     C
	Identify the structural elements of the plot and explain how an author develops conflicts and plot to pace the events in literary text.

	GLI:


	
	


Multiple Choice Question:

22.    Which statement best represents a turning point in the story?
A. “Suddenly he seemed to know that if he were to survive, he must learn how to fly...” 

B. “Albert jumped up and down and screeched for them to rescue him, but they could do nothing.” 

C. “When he tried to climb the rocks to the ridge top, he slid backward on his rear.” 

D. “Albert watched as his brother pumped his wings wildly and zigzagged far above the ground.” 
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Commentary: 
This multiple-choice question asks students to explain how authors pace the action or events in the stories they write. Sometimes, events happen quickly. Other times, the plot, or events unfold slowly. Students think about how authors use different events to write an interesting story. They 
also think about how a story is defined by a climax. The climax is the high point of a story. Events in a story often build to a climax. For example, in a scary story, the tension and fear build to a climax. Then, some event happens that solves the problem or eases the tension.  The climax can be called the turning point of the story. In this question, students consider the different events in a passage and identify the climax, or turning point. The turning point in this passage takes place after Albert falls off the ledge and onto the side of the cliff: “Hungry and tired and alone, Albert rocked back and forth on his dark, narrow perch.” When Albert is trapped on the side of the cliff, he has a big problem. At this time, his situation does not change because no one can help Albert, and he does not yet help himself. Only when he realizes that he must take action does he begin to solve his problem. A dramatic realization on Albert’s part helps him change his situation. The correct answer is A, “Suddenly he seemed to know that if he were to survive, he must learn how to fly…” If a student chooses B, “Albert jumped up and down and screeched for them to rescue him, but they could do nothing,” the student might not have known what a turning point is or how to find the turning point of a story. When Albert jumps up and down and screeches for help, it is a dramatic moment but not a turning point in the passage. The turning point takes place after Albert falls off the ledge and onto the side of the cliff. Then, he realizes that he must take action by learning how to fly to solve his problem.  If a student chooses C, “When he tried to climb the rocks to the ridge top, he slid backward on his rear,” the student may not know what a turning point is or how to find the turning point of a story.  It is not the turning point when Albert slides backward. The turning point in this passage takes place after Albert falls off the ledge and onto the side of the cliff. Then, he realizes that he must take action by learning how to fly to solve his problem. If a student chooses D, “Albert watches as his brother pumped his wings wildly and zigzagged far above the ground,” the student might not have known what a turning point is or how to find the turning point of a story. The turning point is the climax, or the high point of a story. This is the part of the story when the problem is at its worst but is about to change because of events or actions of the characters. It is not the turning point when Albert watches his brother learn to fly. The turning point in this passage takes place after Albert falls off the ledge and onto the side of the cliff. Then, he realizes that he must take action by learning how to fly to solve his problem. 
Performance Data:

The percent of public school students selecting answer choice A for question 22 on the March 2005 Grade 8 Reading Achievement Test was 81%.

Keywords:  plot, turning point

____________________________________________________________________________
	Standard: 

LT
	Benchmark:     F
	Identify and analyze how an author uses figurative language, sound devices and literary techniques to shape plot, set meaning and develop tone.

	GLI:


	
	


Extended Response Question:

23.  
Identify two words or phrases that the author uses to create a mood of fear when Albert falls out of the nest. Explain how each word or phrase contributes to the mood of fear. Use information from the passage to support your answer. Write your answer in the Answer Document. (4 points)
Commentary:

This extended-response question asks students to understand what the mood of a story is. A mood is the feeling a reader has while reading a passage. For example, a story about a haunted house might have a dark or eerie mood. A poem about flowers might have a cheerful mood. Students should also understand how authors choose their words carefully to create a mood. An author can describe the wind as a “gentle breeze” or a “strong gust of wind.” The words that the author uses create a picture and feeling for the reader. In this question, students choose words or phrases that convey a mood of fear. Then, they explain the reasons for their choices. To answer this question, students think about how the author chooses words and puts them together to make the reader feel a certain way.

Performance Data:

The percent of public school students earning each score point for question 23 on the March 2005 Grade 8 Reading Achievement Test was:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	23%
	
	6%
	
	20%
	
	7%
	
	40%


Scoring Guidelines:

4 point text
The response identifies two words or phrases that contribute to a mood of fear when Albert falls out of the nest and gives an explanation of how each word or phrase contributes to the mood. 

Example: 

· desperately: Albert tried desperately to hold onto a boulder, but he slips off. It is frightening that Albert feels desperate because someone who is desperate has pretty much given up hope.

· crashed: When Albert falls against a rock, it’s described as a crash. Crashes are violent, and usually someone gets hurt in a crash. This makes the fall more frightening than if the author just said that Albert landed on a rock or bumped into a rock.

· panicked: People who panic are really scared, so saying that Albert panicked suggests that the situation is really frightening.
· shrieked: People usually shriek when they are scared or angry, and when they are not in control of a situation. Albert’s cries after he has fallen are described as shrieks. This suggests that he is scared and desperate. He can’t do anything to save himself. This suggests that the situation is really frightening.

· screeched: Albert screeches to be rescued, but his mother and Leopold can’t help him. Screeches are unpleasant noises. People screech when they are scared or angry. Using that word to describe Albert’s noises emphasizes how frightening the situation is.

· dark, narrow perch: Albert doesn’t land in a nice place. The author describes the place where he is stuck as dark and narrow. It is frightening to think of Albert being stuck there.

· other text-based, relevant responses

3 point text
The response identifies two words or phrases that contribute to a mood of fear when Albert falls out of the nest and gives an explanation of how one word or phrase contributes to the mood.

2 point text
The response identifies two words or phrases that contribute to a mood of fear when Albert falls out of the nest OR identifies one word or phrase that contributes to a mood of fear when Albert falls out of the nest and gives an explanation of how that word or phrase contributes to the mood.

1 point text
The response identifies one word or phrase that contributes to a mood of fear when Albert falls out of the nest.

0 point text
The response indicates no understanding of the task. The response indicates no understanding of the task. 

Keywords:  figurative language, literary techniques
____________________________________________________________________________

	Standard: 

LT
	Benchmark:     E
	Analyze the use of a genre to express a theme or topic.

	GLI:


	
	


Multiple Choice Question:

24.  Which thematic statement applies to this passage?
A. Family members must remain loyal to each other. 

B. The instinct to survive overcomes incredible odds. 

C. Patience is one of the keys to solving difficult problems. 

D. Good things can come to those who are willing to wait. 
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Commentary: 

This multiple-choice question asks students to understand the theme, important idea, lesson learned or message of a passage.  They should think about how authors imply a theme or develop a message.  In this passage, Albert must learn to fly.  Without flying, he will not be able to get food.  Without food, he will die.  But Albert is not good at flying.  His challenge in this passage is to learn to fly despite his initial lack of interest or ability.  Albert can escape his situation only by flying away on his own.  In his time of crisis, he must overcome his personal limitations to save himself.  The correct answer is B, “ The instinct to survive overcomes incredible odds.”  If a student chooses A, “Family members must remain loyal to each other,” the student may not know what a theme is or how to infer the theme of a passage.  The student may have chosen this answer because the passage is about a family of birds.  The parents are loyal and take care of their young, however, their loyalty is not the subject of this passage.  Rather, the main topic of this passage is survival.  Albert can escape his situation only by flying away on his own.  In his time of crisis, he must overcome his personal limitations to save himself.  If a student chooses C, “Patience is one of the keys to solving difficult problems,” the student may not know what a theme is or how to infer the theme of a passage.  In this story, Albert does not seem especially patient.  The author notes that when Albert was hungry, he “squealed for attention” and later “screeched with annoyance” when his father dangled food in front of him instead of dropping it at his feet.  So patience is not a main subject of this passage.  Rather, the main topic of the passage is survival.  Albert can escape his situation only by flying away on his own.  In his time of crisis, he must overcome his personal limitations to save himself.  If a student chooses D, “Good things can come to those who are willing to wait,” the student may not know what a theme is or how to infer the theme of a passage. The student may have chosen this answer because Albert waits a long time before he flies or because Albert waits some time before flying off the side of the cliff and back to the aerie.  However, waiting does not bring Albert anything good.  In fact, it is because he waits to fly that he gets less and less food and is eventually trapped on the side of the cliff after falling off the ledge.  So, the theme is not about waiting.  Rather, the main topic of the passage is survival.  Albert can escape his situation only by taking action and flying away on his own.  In his time of crisis, he must overcome his personal limitations to save himself.
Performance Data:

The percent of public school students selecting answer choice B for question 24 on the March 2005 Grade 8 Reading Achievement Test was 67%.

Keywords:  plot, theme
Passage:

Yellow Man by Moonlight
“Yellow Man?” The park ranger removed his glasses as he asked this question. “You want to see Yellow Man?”

“Yes,” I said, “I do. Here is a letter from my publisher to explain why.”

I was in the visitors’ center in Canyonlands National Park, southern Utah. To see a certain rock-art site called Yellow Man, I needed the ranger’s permission. The letter I gave him explained that I was working on a book for children about rock art, those paintings and etchings on stone 

done by the Anasazi, an ancient people of North America.

“Yellow Man is off-limits,” the ranger said. “We’ve closed the area because of vandalism.”

“I wonder if you might make an exception for me?” I asked as politely as I could. “I promise not to harm anything.”

The ranger avoided my eyes for a moment. Then he turned to me, handed back the letter, and said,” OK, you don’t look like a vandal to me. I’ll draw you a map. Follow it closely because there are few trails out there.”

“Thank you so much,” I said, shaking his hand.

As I left the visitors’ center, the ranger asked if I knew my way around in the wilderness. “Yes,” I said. “I’ve done this sort of thing before.”

I slept on the ground near the visitors’ center that night, warm inside my sleeping bag. Before sunrise, I packed enough provisions to get me to Yellow Man by midday and back to the truck by nightfall.

By dawn I was on my way into the heart of Canyonlands, a maze of red rock country, a landscape cut by ravines and canyons the colors of deerskin and sunsets. The trees that grow in the park are stunted by the dryness. In some places, what grows appears to spring straight from the rocks.

As I hiked along, taking a trail that would go nine miles into the interior of the park, I thought of the ancient people who had once lived there. One of them, perhaps with the help of a friend, had painted the image I was off to see, Yellow Man. It would be exciting to see a picture that was painted on a rock at least a thousand years ago.

At some point in my trek, I took a wrong turn. By the time I realized my mistake, the afternoon sun was in my eyes. It worried me because I had not brought overnight equipment with me. The error I made in reading the map would cost me.

I retraced my steps, read and reread the map. Finally, at four in the afternoon, I stood before the image of Yellow Man. He took my breath away.

I judge Yellow Man to be about twenty-four inches high. The figure had been painted with pure yellow pigment. The yellow could have come from crushed yellow flowers. His arms and legs are dancing. His face is round, the mouth smiles, and his ears stick out from the sides of his head.

Yellow Man is painted on a natural wall of red sandstone. Above, the wall sticks out to form an overhang that protects him from rain and sun.

Near him on the wall are smaller drawings of mountain sheep, antelope, and a single bird with outspread wings. I wondered if the same artist had done all the drawings, or if several had worked at different times.

It was after five the next time I checked my watch, too late to walk nine miles back to the visitors’ center. I had little with me to make camp, but I felt it unsafe to risk becoming lost in the dark.

When I explored, I found the ruins of a small settlement, dwellings once occupied by people living in Yellow Man’s time. The stone block remains of rooms were crumbling and roofless. For me, one of them would be shelter for the night.

As night fell, the warm glow of a nearly full moon gave me the light I needed. I would sleep in the ruins, curled against a wall older than I could imagine.

I slept soundly for many hours. I woke up afraid in the night, not knowing where I was. I got up and ran to the base of Yellow Man’s wall. There he was, lively and bright in the moonlight.

I sat in the sand for a while, until I felt calm again. Then I returned to my tiny stone room and slept until dawn.

After waving goodbye to Yellow Man, I returned to the visitors’ center. The ranger was there.

“How did it go?” he asked. “Worth the trouble?”

“Yes,” I told him. “Well worth it.”

	Standard: 

LT
	Benchmark:     B
	Explain and analyze how the context of setting and the author’s choice of point of view impact a literary text.

	GLI:


	
	


Multiple Choice Question:

36. How are the narrator’s decisions influenced by the setting?
A. She sleeps near a wall in the ruins because she wants to see the rock art in moonlight.
B. She camps overnight because it is late and the trails are hard to follow.
C. She hikes hurriedly because the historical site is several miles away.
D. She chooses the wrong path because the sun is shining in her eyes.

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the setting of the story and how it influences the plot.  Answer choice “A” is incorrect.  The narrator sleeps near a wall because the wall provides shelter.  Answer choice “B” is correct.  The passage states in paragraph 17 that the narrator felt it unsafe to continue the trail in the dark.  Answer choice “C” is incorrect.  The narrator does not hike hurriedly.  She is curious and explores the rock art, that is why she must camp there overnight.  Answer choice “D” is also incorrect.  The narrator chose the wrong path because she misread the map.

Performance Data:
The percent of public school students selecting answer choice B for question 36 on the March 2006 Grade 8 Reading Achievement Test was 66%.
Keywords:  setting, literary text

	Standard: 

RP
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:


	
	


Multiple Choice Question:

37. Why does the narrator want to visit the site of Yellow Man?

A. She is doing research for a children’s book on rock art.

B. She is fascinated by the culture of the Anasazi people.

C. She wants to prove that she can find the site alone.

D. She plans to write a novel about the Anasazi people.

Commentary:
This multiple-choice question asks students to read the text carefully.  This question is a literal question and the answer is found in the text.  Answer choice “A” is correct.  In paragraph 3, the passage states that “The letter I gave him explained that I was working on a book for children about rock art…” .  Answer choice “B” is incorrect.  Even though the Anasazi are mentioned in the article as the creators of the rock art the narrator is researching, it does not state or imply in the passage that the narrator is fascinated by the culture of Anasazi people.  Answer choice “C” is incorrect.  The narrator cannot find the site alone.  At the beginning of the passage, the narrator accepts a map from the park ranger to help her find Yellow-Man.  While looking for Yellow Man, the narrator must read and reread the map because she gets lost.  Answer choice “D” is also incorrect.  It does not state in the passage that the narrator wants to write a novel about the Anasazi people.  She is researching material for a nonfiction book for children about rock art.

Performance Data:
The percent of public school students selecting answer choice A for question 37 on the March 2006 Grade 8 Reading Achievement Test was 78%.
Keywords:  literal question, reading strategies

	Standard: 

LT
	Benchmark:     A
	Analyze interactions between characters in literary text and how the interactions affect the plot.

	GLI:


	
	


Multiple Choice Question:

38. What part of the ranger’s initial interaction with the narrator foreshadows what happens later in the story?

A. He tells her that vandalism has been a problem; she finds the site in good condition.

B. He acts surprised that she wants to visit Yellow Man; she becomes fascinated by it.

C. He cautions her to follow the map closely; she later loses her way.

D. He explains that the Yellow Man site is closed to visitors; he then allows her to go there.

Commentary:
This multiple-choice question asks students to read the passage carefully and analyze  the interactions between the two characters.  Answer choice “A” is incorrect.  When the narrator finally makes it to the site, she finds Yellow Man in good condition but  the “stone block remains of rooms were crumbling and roofless.”  The site is not in good condition.  Answer choice “B” is incorrect.  The park ranger’s reaction would seem to indicate that the narrator or anyone else 
could not possibly want to visit Yellow Man.  The fact that the narrator becomes fascinated by Yellow Man is not what the park ranger would have predicted.  Answer choice “C” is correct.  When the park ranger cautions the narrator to read the map closely; it is not unexpected to the reader that the narrator would later lose her way.  Answer choice “D” is incorrect.  When the park ranger tells the narrator that the Yellow Man site is closed to visitors, the reader  does not expect  that he will allow her to go there anyway.

Performance Data:
The percent of public school students selecting answer choice C for question 38 on the March 2006 Grade 8 Reading Achievement Test was 61%.
Keywords:  character interactions, plot
	Standard: 

LT
	Benchmark:     B
	Explain and analyze how the context of setting and the author’s choice of point of view impact a literary text.

	GLI:


	
	


Multiple Choice Question:

39. How is the narrator affected by seeing the rock art site?

A. She is confused by the variety of drawings.

B. She is curious about the origin of the drawings.

C. She is surprised by the condition of the drawings.

D. She is disappointed that there are so few drawings.

Commentary:
This multiple-choice question asks students to read the passage carefully and analyze the setting.  Answer choice “A” is incorrect.  The passage does not state that the narrator is confused by the variety of drawings.  Answer choice “B” is correct.  In paragraph 16, after seeing the rock art site for the first time, the passage states, “I wondered if the same artist had done all the drawings, or if several had worked at different times.”  Answer choice “C” is incorrect.  The passage does not state that the narrator is surprised by the condition of the drawings.  Answer choice “D” is incorrect.  The passage does not state that the narrator is disappointed that there are so few drawings.

Performance Data:
The percent of public school students selecting answer choice B for question 39 on the March 2006 Grade 8 Reading Achievement Test was 52%.
Keywords:  setting, literary text
	Standard: 

RP
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:


	
	


Multiple Choice Question:

40. Why does the narrator decide to spend the night at the site of Yellow Man?


A. She wants to have an experience similar to that of the ancient people.

B. She realizes she cannot get back to her truck by nightfall.

C. She wants to see what Yellow Man looks like in the moonlight.

D. She has become too tired to make the trip back to the park entrance.

Commentary:
This multiple-choice question asks students to answer this literal question by recalling information from the text.  Answer choice “A” is incorrect.  The passage does not state that she spends the night because she wants to have an experience similar to that of the ancient people,  Answer choice “B” is correct.  In paragraph 17 of the passage, it states that it was too late for the narrator to walk back to the visitors’ center.  Answer choice “C” is incorrect.  The passage does not state that the narrator wants to see what the Yellow Man looks like in the moonlight.  Answer choice “D” is incorrect.  The passage does not state that she has become too tired to make the trip back to the park entrance.

Performance Data:
The percent of public school students selecting answer choice B for question 40 on the March 2006 Grade 8 Reading Achievement Test was 74%.
Keywords:  reading strategy, literal question

	Standard: 

LT
	Benchmark:     C
	Identify the structural elements of the plot and explain how an author develops conflict and plot to pace the events in literary text.

	GLI:


	
	


Extended Response Question:

41.
Using four examples from the passage, explain how the author creates a sense of mystery. 

Write your answer in the Answer Document. (4 points)

Commentary:
This extended-response question asks students to reread the passage and focus on the plot of the story.  This is a 4pt. question, so in order to earn all points,  a student must provide an explanation and explain it using four examples from the passage.

Scoring Guidelines:
	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 
	The response provides an explanation of how the author creates a sense of mystery, using four examples from the passage.

Example: The author creates a sense of mystery in the story by


• having the park ranger warn the narrator about following the trails carefully. This makes the reader wonder whether the narrator might get lost.

• having the park ranger tell the narrator that the rock art site is off-limits for visitors. This makes the reader wonder if the narrator will get permission to see the drawings.

• having the narrator tell readers that the paintings are over 1000 years old. This makes the reader wonder what kind of condition the paintings will be in.

• describing the different paintings on the rock wall.  This raises the question of whether all of the paintings were done by the same person. This makes the reader wonder who might have painted them—and how they have survived so long.
• by having the narrator get lost and decide to spend the night at the ruins. This makes the reader wonder what will happen when darkness falls and she is there all alone.

• by describing how the narrator wakes up scared during the night. This makes the reader wonder what could happen when a person is alone in an isolated place at night.


NOTE:  Any other relevant text-based examples will be accepted.


	3 


	The response provides an explanation of how the author creates a sense of mystery, using three examples from the passage.

	
	3 point sample answer:




	2
	The response provides an explanation of how the author creates a sense of mystery, using two examples from the passage.

	
	2 point sample answer:




	1


	The response provides an explanation of how the author creates a sense of mystery, using one example from the passage.

	
	1 point sample answer:




	0 


	The response indicates no understanding of the task.

OR

Lists details without explanations.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 41 on the March 2006 Grade 8 Reading Achievement Test:
	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	72%
	
	08%
	
	05%
	
	04%
	
	07%


Keywords:  plot, structural elements

	Standard: 

AV
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:


	
	


Multiple Choice Question:

42. “Before sunrise, I packed enough provisions to get me to Yellow Man by midday and back to the truck by nightfall.”

What are the provisions mentioned in this sentence?

A. supplies

B. instructions

C. outer clothes

D. guide books

Commentary:
This multiple-choice question asks students to focus on the context clues that surround the word provisions.  Answer choice “A” is correct.  Because the passage states: that she borrowed a guide book from the park ranger, that she had not brought overnight equipment with her and instructions were not mentioned, provisions in this sentence means supplies.  Answer choice “B” is incorrect.  The passage makes no mention of instructions. Answer choice “C” is incorrect.  The passage states in paragraph 12 that the narrator had no overnight equipment with her.  Answer choice”D” is also incorrect.  The narrator borrowed a guide book or map from the park ranger.
Performance Data:
The percent of public school students selecting answer choice A for question 42 on the March 2006 Grade 8 Reading Achievement Test was 87%.
Keywords:  vocabulary, context clues

	Standard: 

LT
	Benchmark:     A
	Analyze interactions between characters in literary text and how the interactions affect the plot.

	GLI:


	
	


Multiple Choice Question:

43.   
How does the interaction between the narrator and the park ranger affect the plot?

A. The ranger agrees to allow the narrator to visit the site of Yellow Man.

B. The ranger reminds the narrator to stay on the trail to see Yellow Man.

C. The narrator does not disturb the ruins because the ranger has warned her.

D. The narrator gets lost because the ranger's instructions are confusing.

Commentary:
This multiple-choice question asks students to analyze interactions between characters in the passage.  Answer choice “A” is correct.  The ranger agreeing to allow the narrator to visit the site of Yellow Man advances the plot.  Without this, there would be no story.  Answer choice “B” is incorrect.   This does not affect the plot, it is simply a detail of the plot.  Answer choice “C” is incorrect.  The ranger does not warn the narrator to not disturb the ruins.  Answer choice “D” is incorrect.  The narrator gets lost because she misread the map, not because the part ranger’s instructions are confusing.

Performance Data:
The percent of public school students selecting answer choice A  for question 43 on the March 2006 Grade 8 Reading Achievement Test was 48%.
Keywords:  literary text, character interactions

	Standard: 

AV
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:


	
	


Multiple Choice Question:

44. “The error I made in reading the map would cost me.”

What does the narrator mean in this statement?

A. She would have to pay an extra fee for camping overnight in the park.

B. She had underestimated the distance to the site of the rock art.

C. She would be embarrassed to admit to the ranger that she had not followed the map.

D. She had lost so much time that she would be unable to return to her truck by nightfall.

Commentary:
This multiple-choice question asks students to recognize the importance and function of figurative language.  Answer choice “A” is incorrect.  In this sentence the phrase “would cost me” is figurative language.  To use a word or phrase figuratively means that the word or phrase has a meaning other than its actual or literal meaning.  In the statement the error costs her time, not money.  Answer choice “B” is incorrect.  In this statement, “would cost me” means that the error would cost her time not that she had underestimated the distance to the site of the rock art.  Answer choice “C” is incorrect.  In this statement, “would cost me” means that the error would cost her time, not that she would be embarrassed.  Answer choice “D” is correct.  Because “would cost “ is used figuratively it is referring to time.

Performance Data:
The percent of public school students selecting answer choice D for question 44 on the March 2006 Grade 8 Reading Achievement Test was 80%.
Keywords:  vocabulary, figurative language

Passage:

Summer Camp

1
This summer I’ll be working in a small, women’s clothing store; it’s not incredibly exciting, but I like my work. Still, I remember the years I spent at summer camp and I know I’ll never feel that way again.

2
A giggling bunch of girls, aged eight and nine, scurries as a group down the dusty, rutted path to the lake. We have messily braided hair, skinny legs with scabby knees, and dirty sandals and feet. We pass the infirmary,
[image: image1.wmf]1

 the weathered, ancient dining hall, and the newer lodge.

3
We girls head down the hill, covered in bark chips that get in everyone’s shoes, pass through the Senior Boys Unit, cross a small field, and reach the edge of the lake.

4
Earlier today, between noon and three o’clock, we arrived at camp. Fathers hefted our trunks, carried them into our cabins, and set them down at the foot of our bunks. Siblings bestowed upon us wisdom gained from previous years (“Don’t eat the gruel.” “Shower at least twice a week.”) along with contraband candy to hide in said trunks, and mothers kissed us good-bye.

5
Once all ten of us girls made it into our cabin, we met our counselors and C.I.T. (counselor in training) and played a name game. Then we changed into our swimsuits and trooped down to the lake to take the ever-important swim test.

6
Now that we’re here, we hang our towels on the rough log fence and remove our shoes, shirts, and shorts. With the dirt and grass tickling our toes, we proceed down onto the dock and pair off. One partner swims while the other counts laps. You have to swim nine laps, or eighteen lengths, to be able to go into the deeper water, an area aspired to by all because it contains the float, which is fun to load with more than the ten-camper limit and try to tip over. Most of the girls in my cabin won’t be able to do it. Most of them are first-year campers, and they’ll end up relegated to “Beginner’s Bay,” which doesn’t get any deeper than three feet or so. I’m a veteran, and at age nine this is my second year of camp. I’ll make all eighteen lengths or die trying.

7
My partner, a small eight-year-old with wispy, dark brown hair, whispers to me that I can go first. Not a problem. My confidence is astronomical and absolutely unshakable, I jump right in with a splash that wets my partner and the other chickens on the dock who want to count first. Then I start to swim: one lap of breaststroke, one lap of backstroke, one lap of freestyle, and six more any way I choose including the dog paddle or any other method of staying afloat that propels me through the water. I’m glad when I swim to the other dock and back for the last time, diving underwater to covert he last yard or so. Now that I’m done, I relax for a moment, reveling in everything about me.

8
The tips of my toes barely reach the gravelly bottom as I tread water. Moving into shallower depths is always an option, but I prefer proving my endurance to the onlookers I’m sure are watching. Looking up, really looking for the first time since last year, I can see the dock, a light pine color with blue painted edges. I see the rocky shore, the land beyond it covered in pine needles and shade from the immense trees standing guard above me. Behind them I see the mountains, all around me. The lake stretches out for miles, edged by the mountains, and the sun reflects off the water so brightly that I have to look away.

9
The birds sing their tuneless songs from the pines while the lake gurgles and splashes in endlessly breaking waves that never reach the shore. Simultaneously I smell the pines and the water, and the sensations are home, security. This is where I belong.

10 I dog-paddle over to the ladder, feeling water splash and lap against me. Grasping the slippery, blue wood in my small hands, I haul myself up far enough to put my foot on the first rung, feeling the edge of it jabbing my foot, the rough paint mixed with sand for traction, I climb out and stand on the smooth, damp dock, wrapping my terry cloth towel around my shoulders. Everything is dripping: hair, bathing suit, self. The sum warms me.

11 Then I feel that familiar premonitory
[image: image2.wmf]2

 sensation in my nose. Ahchoo! I sneeze violently, and the water is gone, leaving that peculiar empty feeling. It’s an affirmation
[image: image3.wmf]3

 of a sort, that summer is here, and I’m where I should be.

	Standard: 

LT
	Benchmark:     E
	Analyze the use of a genre to express a theme or topic.

	GLI:


	
	


Multiple Choice Question:

1. Which thematic statement best applies to this passage?

A. Memories make the past seem better than it really was.

B. Childhood memories can be a source of much pleasure.

C. Being the best is more important to adults than to children.

D. Past experiences help people deal with today’s challenges.

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the theme of this passage. The theme is an overall, general statement about the important point or idea of the story that an author conveys to readers. The theme may also be thought of as the “message” of the story. The correct answer choice for this question is “B.” It is clear from the text that the narrator enjoys her memories of summer camp. In the first paragraph the narrator talks about how, even though she likes her summer job, nothing will compare to the summers she spent at camp. In paragraph one the narrator states, “This summer I’ll be working in a small, women’s clothing store; it’s not incredibly exciting, but I like my work. Still, I remember the years I spent at summer camp and I know I’ll never feel that way again”. Answer choice “A” is incorrect. The narrator does not think that memories make the past seem better than it really was. In paragraph one she states, “Still, I remember the years I spent at summer camp and I know I’ll never feel that way again.” Answer choice “C” is incorrect. In the passage, the narrator tells all about the “swim test” that took place every summer at the camp and her delight in being one of the few swimmers in her cabin able to swim the entire eighteen lengths so that she would be able to go into the deeper water. The narrator states in paragraph 6, “Most of the girls in my cabin won’t be able to do it. Most of them are first-year campers, and they’ll end up relegated to “Beginner’s Bay”. Answer choice “D” is also incorrect. The passage does not mention any current challenges that the narrator may be facing.

Performance Data:
The percent of public school students selecting answer choice B for question 1 on the May 2007 Reading Achievement was 58%.
Keywords:  theme

	Standard: 

AV
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:


	
	


Multiple Choice Question:

2. “Fathers hefted our trunks, carried them into our cabins, and set them down at the foot of our bunks.”

In the sentence above, what does the word hefted mean?

A. propped up

B. opened

C. set up

D. lifted

Commentary:
This multiple-choice question asks students to read the passage carefully and think carefully about the excerpt listed above. Based on what is occurring in the excerpt, the meaning of the word hefted is lifted. The words “carried them into our cabins” and “set them down at the foot of our bunks” are the clues that help with this definition. The correct answer choice for this question is “D.” Answer choice “A” is incorrect. The trunks were not “propped up”, the fathers lifted or hefted them up and then set them down. Answer choice “B” is incorrect. Since this happens upon the girl’s arrival at camp, the fathers are not yet opening up the trunks; they are carrying them into the cabins. Answer choice “C” is also incorrect. The passage does not describe the fathers as helping the girls “set up” their cabins. The fathers are simply carrying the trunks into the cabin.
Performance Data:
The percent of public school students selecting answer choice D for question 2 on the May 2007Grade 8 Reading Achievement was 92%.
Keywords:  context clues
	Standard: 

LT
	Benchmark:     F
	Identify and analyze how an author uses figurative language, sound devices and literary techniques to shape plot, set meaning and develop tone.

	GLI:


	
	


Extended Response Question:

3. Identify three examples of sensory details from the passage. Include a detail for sight, a detail for sound and a detail for touch. Then, explain how the use of sensory details contributes to the reader’s understanding of the narrator’s camp experience. Write your answer in the Answer Document (4pts)
Commentary:
This extended-response question asks students to read the passage carefully and pay close attention to the sensory details the author uses. In reading the question carefully, students should note that the question is asking for four pieces of information. In order for students to earn all four points, all four pieces of information must be in the response. In providing the details, there are many for students to choose from. For the detail of sight, the narrator has described the little girls as having messy hair, skinny legs, scabby knees and dirty sandals. Also for sight, the narrator describes the rocky shore from the huge lake and the surrounding mountains. For the detail of sound, the narrator describes the young girls giggling, the birds singing and the gurgling and splashing of the waves on the lake. For the detail of touch, the narrator describes the feel of the bark chips as they get in the girls sandals, the feel of the ladder she uses to get out of the water, the roughness of the textured paint used to provide traction and also the feel of the warmth of the sun when she is standing wet on the dock. Along with these details, students must provide an explanation as to how the sensory details contribute to the reader’s understanding of the narrator’s camp experience.

Performance Data:
The percent of public school students earning each score point for question 3 on the May 2007 Grade 8 Reading Achievement:
	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	8%
	
	5%
	
	14%
	
	43%
	
	31%


Scoring Guidelines

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 point text
	The response includes an explanation of how sensory details contribute to the story (other text-based answers with support are acceptable):
Sensory details provide the reader with a vivid description of the narrator's camp experience so that the reader can better picture and understand this experience. 


-AND-

one example from each of the following sensory categories:
Examples (non-exhaustive):

Sight:  
• The narrator describes little girls with messy hair, skinny legs, scabby knees, with dirty sandals and feet running toward the lake. 

• The narrator describes a peaceful and beautiful setting in which she can see the rocky shore from the lake, the land is covered in pine needles, and there is shade from the large trees. The lake is huge, and she can see for miles to the surrounding mountains. 

Sound:


• The narrator describes the young girls giggling as they run toward the lake. 

• The narrator describes the sounds of birds singing and the gurgling and splashing of the waves of the lake.  

Touch: 
• The narrator describes the bark chips that get in the girls’ sandals as they run toward the water. 

• The narrator describes the ladder she uses to get out of the water, the slippery blue wood, the roughness of the textured paint used to provide traction.

• The narrator describes the warmth of the sun when she is standing wet on the dock.


	3 point text


	The response includes three of the responses listed above.

	
	3 point sample answer:

	2 point text


	The response includes two of the responses listed above.

	
	2 point sample answer:

	1 point text


	The response includes one of the responses listed above.

	
	1 point sample answer:

	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain any of the correct responses listed above, is incomplete or irrelevant.

	
	0 point sample answer:


Keywords:  literary techniques

	Standard: 

RP
	Benchmark:     A
	Apply reading strategies to understand grade-appropriate text.

	GLI:


	
	


Multiple Choice Question:

4. Which words best describe the way the narrator portrays herself as a child at camp?

A. bashful and withdrawn

B. confident and determined

C. trustworthy and responsible

D. thoughtful and understanding

Commentary:
This multiple-choice question asks students to read the passage carefully and recall details of the plot. In paragraph 6 when the narrator is describing the other campers she states, “Most of them are first-year campers, and they’ll end up relegated to “Beginner’s Bay”. The narrator is also confident that she will be able to swim eighteen lengths while most of the other girls won’t. The correct answer choice is “B.” Answer choice “A” is incorrect. It is not stated nor can it be inferred that the narrator is bashful and withdrawn. Answer choice “C” is incorrect. The passage does not state or infer anything about the narrator’s or the other camper’s trustworthiness or responsibility. Answer choice “D” is also incorrect. The narrator is not thoughtful or understanding. She does not offer the new campers any help or tips and she is gleeful that she will be able to outperform the majority of them.

Performance Data:
The percent of public school students selecting answer choice B for question 4 on the May 2007 Grade 8 Reading Achievement was 90%.

Keywords:  reading strategies
	Standard: 

AV
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:


	
	


Multiple Choice Question:

5. “Most of the girls in my cabin won’t be able to do it. Most of them are first-year campers, and they’ll end up relegated to ‘Beginner’s Bay,’ which doesn’t get any deeper than three feet or so.” 

What does relegated mean in the second sentence?
A. carried

B. assigned

C. reported

D. announced

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the context surrounding the word relegated in the second sentence. In the excerpt from which this sentence is taken, the narrator is referring to the inexperience of the first- year campers. Since the narrator feels that most of the first-year campers will not be able to swim the eighteen lengths, they will have to be assigned to “Beginner’s Bay”. The fact that they will be assigned to this lowers their status even more in the eyes of the narrator. The correct answer choice is “B.” Answer choice “A” is incorrect. In this excerpt, “Beginner’s Bay” is not a place that the girls are carried to, but assigned to. Answer choice “C” is incorrect. The campers did not report to “Beginner’s Bay”, they were assigned to “Beginner’s Bay”. answer choice “D” is also incorrect. The campers were not announced to “Beginner’s Bay”, they were assigned to “Beginner’s Bay”.
Performance Data:
The percent of public school students selecting answer choice B for question 5 on the May 2007 Grade 8 Reading Achievement was 89%.
Keywords:  context clues
	Standard: 

LT
	Benchmark:     A
	Analyze the interactions between characters in literary text and how the interactions affect the plot.

	GLI:


	
	


Multiple Choice Question:

6. How does the narrator act toward the other characters after they are all down at the lake?

A. The narrator tries to help the shyer campers fit in.

B. The narrator tries to show off during her swimming test.

C. The narrator tries to hide the fact that she is a weak swimmer.

D. The narrator tries to help the younger campers avoid mistakes.
Commentary:
This multiple-choice question asks students to read the passage carefully and analyze the interactions between characters in the passage. In paragraph 8, it is clear that the narrator wants to show off her swimming skills when she states, “Moving into shallower depths is always an option, but I prefer proving my endurance to the onlookers I’m sure are watching.” The correct answer choice is “B.” Answer choice “A” is incorrect. There is nothing in the passage that suggests that the narrator tries to help the shy campers fit in. The narrator is primarily interested in showing the first-year campers how well she can swim. Answer choice “C” is incorrect. The narrator is not a weak swimmer and she has the utmost confidence in her swimming skills. In paragraph six, she states that most of the other girls in her cabin will not be able to swim the eighteen lengths to be able to go into the deeper lengths. She states, “Most of the girls in my cabin won’t be able to do it. Most of them are first-year campers, and they’ll end up relegated to “Beginner’s Bay,” which doesn’t get any deeper than three feet.” Answer choice “D” is also incorrect. Even though the narrator is an accomplished swimmer and knows that the first-year campers could probably use her help, she makes no attempt to help them. In paragraph 6, she even makes fun of the first-year campers by calling them “chickens” for staying on the docks.

Performance Data:
The percent of public school students selecting answer choice B for question 6 on the May 2007 Grade 8 Reading Achievement was 79%.
Keywords:  character interactions

	Standard: 

LT
	Benchmark:     F
	Identify and analyze how an author uses figurative language, sound devices and literary techniques to shape plot, set meaning and develop tone.

	GLI:


	
	


Multiple Choice Question:

7. “I see the rocky shore, the land beyond it covered in pine needles and shade from the immense trees standing guard above me. Behind them I see the mountains, all around me.”

Why does the narrator use personification to describe the large trees in the sentences above?

A. to indicate that they make her feel confined to the lake

B. to demonstrate that they provide relief from the hot sun

C. to show that they make her feel protected in the camp

D. to show that they look beautiful against the mountains
Commentary:
This multiple-choice question asks students to read the passage carefully and focus on the author’s use of figurative language. When an author uses personification, human qualities are attributed to animals, inanimate objects or ideas. The author’s use of the word “protected” in describing how the trees made the narrator feel is an example of personification. An inanimate object is assigned a characteristic that is associated with a human being, not a tree. A person makes another person feel protected; a tree does not make a person feel protected. In paragraph 8 when the narrator states that, “I see the rocky shore, the land beyond it covered in pine needles and shade from the immense trees standing guard above me”, she is assigning the trees the human condition of guarding or protecting her. The correct answer choice is “C.” Answer choice “A” is incorrect. While swimming in the lake and looking up at the trees, the narrator states that her feelings are those of the sensations of home and security. The narrator does not feel confined; but rather she feels safe and protected. Answer choice “B” is incorrect.  A tree providing shade from the land is not an example of personification. This is a natural occurrence. Answer choice “D” is also incorrect. The passage does not describe the trees as looking beautiful against the mountains.

Performance Data:
The percent of public school students selecting answer choice C for question 7 on the May 2007 Grade 8 Reading Achievement was 47%.
Keywords:  literary techniques
	Standard: 

LT
	Benchmark:     F
	Identify and analyze how an author uses figurative language, sound devices and literary techniques to shape plot, set meaning and develop tone.

	GLI:


	
	


Multiple Choice Question:

8. Which literary technique does the author use to tell the story?

A. flashback

B. hyperbole

C. foreshadowing

D. onomatopoeia
Commentary:
This multiple-choice question asks students to read the passage carefully and think about the events in the passage and when they take place. In paragraph one, the author establishes that the events take place in the past. While the author is presently working in a clothing store and enjoying her summer, she looks back and remembers the summers she attended summer camp. In paragraph one the author states, “Still, I remember the years I spent at summer camp and I know I’ll never feel that way again”. When an author uses the literary technique of flashback, he or she is stopping the chronological action in a story and shifting to an earlier period to introduce additional information. The correct answer choice is “A.” Answer choice “B” is incorrect. The author does not make use of hyperbole or exaggeration in the passage. The author simply relates the details the way they happened at summer camp. Answer choice “C” is incorrect. The author does not use the literary technique of foreshadowing, or giving clues to coming events, in a narrative. The author simply relates the story to the reader the way that the narrator remembers her experience at summer camp. Answer choice “D” is also incorrect. The author does not use the literary technique of onomatopoeia, using words whose sound imitates their suggested meaning, in the passage. The author uses words in the passage in a straightforward style.

Performance Data:
The percent of public school students selecting answer choice A for question 8 on the May 2007 Grade 8 Reading Achievement was 83%.
Keywords:  literary techniques

	Standard: 

RP
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:


	
	


Multiple Choice Question:

9. Which word best describes the narrator’s attitude toward attending summer camp?

A. gloomy

B. regretful

C. humorous

D. sentimental

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the narrator and her feelings towards summer camp. Thinking about the passage overall, the reader will be able to infer or use the context of the story to know that the narrator has a sentimental attitude as she remembers her days at summer camp. When the narrator states in paragraph 1 that, “I remember the years I spent at summer camp and I know I’ll never feel that way again” and then continues to describe her experiences in a very positive way, the reader knows that the narrator has a sentimental or emotional attitude towards her summers at camp. The correct answer choice is “D.” Answer choice “A” is incorrect. The narrator’s attitude is not one of gloominess. In this passage, the narrator remembers her time at summer camp as happy and not depressing and sad. Answer choice “B” is incorrect. The narrator’s attitude is not one of regret. Even though as an adult she likes her work at the women’s clothing store, the narrator remembers her time at summer camp as happy, not full of regrets. Answer choice “D” is also incorrect. Even though the narrator remembered her camp experience as happy, the passage does not state or infer that the narrator thought her events or activities were humorous.

Performance Data:
The percent of public school students selecting answer choice D for question 9 on the May 2007 Grade 8 Reading Achievement was 73%.
Keywords:  reading strategies
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